Money
Basic economic problem: Resources are limited but needs and wants are infinite

Opportunity cost: Something given up when we make a choice
Demand: The quantity of a good or service that consumers are willing and able to purchase at a particular price

Supply: The quantity of a good or service that businesses will offer for sale at a particular price

Bank/building society account: an account for which the main objective is to gain interest and keep money safe.

ISA: individual savings account

Interest Rates: an annual rate which is charged to borrows’ or paid savers

	Account
	Reward
	Risk
	Short, medium or long-term
	Ease of withdrawing money

	Savings account
	Low - Medium
	Low
	Short – Long
	Easy – unless notice of withdrawal is required

	ISA accounts
	Low - Medium
	Low
	Medium – Long
	Easy

	National savings and investments account
	Low
	Very Low
	Medium – Long
	Often requires written notice of withdrawal

	Unit Trusts
	Medium - High
	High
	Long
	Obtaining your money may take some time


Annual equivalent rate (AER): a figure quoted in savings advertisements to help people compare on savings products with another

Risks: the chance that something may not succeed and its consequence

Reward: the return received for taking risks
Shares: certificate representing a unit of ownership in a company

Unit trust: a pooled investment fund usually shares-based investments

Borrowing

Mortgage – a loan to finance the purchase of real estate (e.g. a house). A Mortgage is secured on the house, which remains to be the property of the bank until the loan is paid off.

Credit card – cards that may be used repeatedly to buy products and services on credit or to borrow money up to a pre arranged amount limit. Each month, you must pay back the minimum repayment required (usually around 3-5%) of the outstanding balance. You can pay more if you want, and this will reduce the interest you pay; credit card interest rates are high.

Store card – cards that may be used to buy products and services on credit from the shop that issued the card, up to a pre arranged limit. Repayment terms are similar to credit cards.

Personal loan – a loan given for a personal household (e.g. to buy items such as furniture)

Hire purchase – instalment plan whereby the loan company owns the item, but it becomes yours when the debt if fully paid off.

Overdraft – borrowing up to an agreed limit on a current account. Overdrafts must be paid back on demand.

	Type of Loan
	Interest Rate
	Is security needed?
	Flexibility of payments

	Mortgages
	Low
	Yes – The house.
	Very little – the amount changes when there are changes in the base rate.

	Credit and store cards
	High 
	No
	High – you can pay the minimum, or more if you wish

	Personal loans
	Medium
	No
	None

	Hire purchase
	Medium
	Yes – the purchase acts as security
	None

	Overdraft
	High
	No
	High – but make sure that you do not go over the agreed limit.


Borrowing/debt/credit: getting money from a lender that must be repaid in the future (e.g. a mortgage)

Loan: amount of money borrowed

Term of a loan: the length of time over which a loan can be repaid

Annual percentage rate (APR): the interest rate published on loans to help compare their true costs
Work

	Why people work
	Why people may not work

	Pay
	Remaining in education

	Job satisfaction (Social aspect an achievement)
	Child care and Retirement


Temporary Employment: work that will only last for a specific period of time (usually a number of weeks or months)

Seasonal Employment: work that is only required during a particular period of the year 

Specialisation: where each worker concentrates on only one small aspect of the entire production (The division of labour)

Benefits 
· Workers can become more skilled if they focus on one task rather than be involved in the whole production process

· Output can be produced faster as workers become more familiar with the reduced number of tasks that they are required to complete

· Business can produce output at a lower cost due to faster and more skilled workers and this saving could be shared with workers in higher wages

· Workers are better off because they can focus on work which they are best skilled at

Limitations
· Workers will become ‘interdependent’ they will all have to depend on each other, which could become a problem if one area of production fails
· Jobs may become boring if workers are in a repeated sector every day

· If a worker is absent it could be hard to rearrange a cover for that period
· Workers will become less flexible and it will be harder to adapt in making new types of products
Flexible working: workers who are more adaptable in time, location or manner of work

Rate of retirement is decreasing because people tend to have longer lifespan and they find that the state pension is not a sufficient amount. The official age in the UK is 65+

Reward for Work

How people are paid:

Salaries - stated as annual earnings but are paid monthly. Mainly applies to full time workers, but can apply to part time workers. Jobs paying salaries are more likely to be skilled – non manual occupations. Pay stated as a yearly total
Wage – wages are calculated as an hourly rate multiplied b the number of hours worked. Wages are normally paid weekly. More likely to apply to lower skilled jobs, and for part time or temporary work.  Pay calculated on an hourly rate multiplied b the number of worked hours
Commission – workers paid by commission receive payments for achieving certain targets – often connected with sales. A worker who adds to the firms sales receives a percentage of the sales value as a reward. Commission encourages workers to achieve more sales. Workers can be paid partly or fully on commission. Payment made to workers for achieving certain targets
Overtime payment – Businesses sometimes need workers to work longer hours. This is especially true when production needs to be higher than usual but this will be temporary. Rather than having to employ more workers, companies will encourage its workforce to work longer hours. These extra hours are paid at a higher rate and are known as overtime payments. Workers are paid a higher amount for hours worked outside of their normal working hours.
Shift work payment – some workers will not work traditional hours but will work in shifts. This often occurs when a business needs to be kept open for longer than the working day. Work patterns which do not follow the standard working hours
BACS – stands for the bankers automated clearing services and is a system used within the UK for allowing the electronic transfer of money between banks. This means that it avoids the need for paper based documents when making payments. The payments can take up to three days to move from one bank to another. Automatic transfer of funds between bank accounts.
Fringe benefits – When worker are paid in ways other than money, For example, fringe benefits of a job could include a company car, private health care or schooling fees. They are often paid for highly skilled and highly paid jobs.

Deductions

Gross Pay –Is a worker’s pay before any deductions are made.

Net pay – refers to the pay after all deductions have been made. E.g. tax, national insurance and pension contributions.

Income Tax: tax on money paid to the worker, although not all income is taxed, the income tax will be paid as a percentage of earnings. People only pay income tax on earnings above a tax free allowance, and the percentage of tax paid depends on the amount of income – indicated by a tax code.  A tax calculated as a percentage of the workers income.
Income tax in the UK is paid in two main ways

· PAYE – pay as you earn, tax is deducted by the employer before the income is paid to the worker

· SA – self assessment, for workers who are self employed. Tax is paid by the worker.

National Insurance (NIC): are paid by employees on incomes to build up an entitlement to certain benefits and the state pension. Like income tax, national insurance is paid as a percentage of income earned. The rates it is paid are different to those of income tax. A tax paid by workers which entitles them to qualify for benefits when necessary
Pension contributions: some workers will pay fewer NICS because they make payments to either a private or a company pension scheme. Workers pay a percentage of their income, which will then be invested. The worker will receive the pension when reaching retirement. A deduction from a worker’s pay, which is meant as a contribution for their future retirements.
Other deductions: trade union subscriptions, staff association membership fees and repayment o student loans.

Labour

· Monetary factors, gender, ethnic origin, taxation and state benefits are contributions as to why people may not work.
Reasons for difference in wages
Training and skills – Jobs which require more training and higher skills are likely to be paid more, because the supply of people with these skills is not a lot. Businesses need to pay more so that they can attract these workers.

Gender – Women are likely to be paid less than men. This is partly due to the fact that women are more likely to take a career break to raise children so they would have to miss out on training and opportunities. Women’s wages are around 85% of men’s.

Age – older workers are likely to be paid more than younger workers. This is because they are likely to have more experience and have the skills needed for higher paid jobs.

Trade unions – organizations that workers can decide to join, which offers protection and negotiate for higher wages for their members. Achieving this by the treat of industrial action. E.g. strikes.

Government Influence - the government introduced a minimum wage in the 1990’s, so now people cannot be paid unfairly low wages. The minimum wag is the legal minimum hourly rate that can be paid to workers, varying depending on the age of the worker. 
Reasons why wages rates change
Surpluses of labour – where more people want to work in a particular occupation than the number of jobs available. This is likely to lead to lower wages because the supply of available people has risen. Also because the business can afford to pay less for a higher amount of staff.

Shortages of labour – If there is a shortage of labour, businesses will need to offer higher wages. This will encourage more workers to supply their labour for that industry.

Unemployment

Monetary costs of unemployment 

· A person will not receive any income

· The government will need to spend money in issuing benefits.

Non monetary costs of unemployment

· Loss of skills 

· Health – due to possible family breakdown and stress
Government strategies to help the unemployed:
Tax allowances – allowing people to earn up to a certain amount before they have to start paying income tax. This is designed to ensure that the unemployed who take on jobs will not be worse off than if they were receiving benefits.
Jobseekers allowance – the benefit payments to the unemployed re linked to the person providing evidence that a person is actively seeking work. 

Working tax credits – Some people will have family commitments, so the government ensure they receive benefits through working tax credits. Meaning they don’t lose all the benefits that they had whilst unemployed.

New deal – focuses on providing training for people who have been unemployed for an extended duration. It particularly concentrates on those ages under 25 because it is believed that they are the most likely to be unemployed because of lack of skills.

Education - the government is encouraging more students to undertake vocation qualifications in schools and colleges. To ensure that children who find academic work difficult do not leave school without decent qualifications.

Apprenticeships - apprentices work alongside experienced staff and gain job specific skills. The apprentice will normally receive training with a local training provider such as a college possibly on a day release scheme e.g. one day a week away from the workplace. This helps the business, meaning they don’t get the same wage as a normal employee would. But also helps the apprentice because they gain skills that make them employable.

International trade 

Exports – goods and services sold to another country
Imports – goods and services bought from another country

Balance of payments – a record of the value of a country’s exports, imports and financial transactions with the rest of the world over a year. The difference between the value of all the exports and imports.
Importance of trade to the UK

It is very important to the UK because it provides a large number of jobs. Each country has different raw materials, climate, cultures and labour skills. This gives advantages in producing certain types of goods and services. This is known as comparative advantage. 

Advantages of trade to the UK economy
Globalisation is the name given to the process of increasing international trade and economic interdependence that has taken place in recent decades. It has made it easier to buy products produced around the world, and trading with other countries. Having access to so many countries brings the UK many benefits, such as 

· Income – increased production means more workers are needed = more jobs.

· Growth – growing exports mean increasing production, which leads to higher economic growth.

· Choice and product differentiation – UK citizens can choose from goods otherwise not available in the UK

· Prices – many of the consumer goods we buy in the UK are imported from countries like china and India. These economies have much lower labour costs than the UK, and have relatively good levels of technology. They can therefore produce products much more cheaply than UK manufacturers.

· Competition and innovation – all companies have to work harder to attract consumers as there are many more potential competitors. They try o lower prices and develop more attractive and better quality products.

· Raw materials – the UK is relatively poor in raw materials, so it is essential that the UK imports the raw materials. E.g. metals, gems, energy.

Gross domestic product (GDP): Total value of goods and services produced by an economy in one year

Disadvantages of trade to the UK economy 
· Competition – increased competition may benefit consumers in terms of having cheaper goods and greater variety, but UK firms may find it difficult to compete. 
· Economic dependency – the UK imports a large variety of food, however an interruption could threaten our survival.
· Unstable commodity prices – the prices of raw materials and foodstuffs can change by large amount very quickly. This affects both production costs and the prices to consumers. It can have good and bad effects.
· Powers of MNCs – multinational co-operations, becoming very powerful. All governments are finding it hard to keep them, under control.
· Protecting the environment during transportation of goods.
Exchange Rates

Exchange rates: the rate at which one currency exchanges for another.

An increase in the value of the sterling means one pound buys more euros’s, the pound as gone up in value and become stronger.

A fall in the value of the sterling means one pound buys fewer euros. The pound has fallen and become weaker.

UK exporters benefit from a fall in the sterling, but UK importers face higher costs and must reduce their prices or profit margin.
If the value of the pound rises, you will receive more foreign currency, which will allow you to spend more when you go abroad. But when the pound falls, you will receive less foreign currency, and have to exchange more at a higher rate.
The Power of the Consumer
Fair-trade aims to help poorer producers in developing countries gain economic self sufficiency by encouraging the payment of fair prices for products such as coffee, cocoa and fresh fruit. High street names such as Tesco and marks and Spencer now stock Fair-trade products because of consumer pressure. Consumers are prepared to receive a fair deal. Marks and Spencer is now looking to stock an even bigger range of fair-trade products because it has received so much positive feedback from customers.

As consumers, our buying habits influencers what producers supply. So shops should stock fair-trade because consumers demand them.

National and Global Economy
Advantages to firms operating overseas
· Lower operating and labour costs
· Firms have increased competitiveness
· Exchange rates – if the exchange rates fall it means lower export prices
· Firms are nearer to markets and/or sources of material. Reducing transport and distribution costs.
Disadvantages of firms operating overseas

· Jobs are lost in the UK
· Difficulty in controlling operations
· Unfamiliar cultures and languages
· Transport costs to home markets – can vary with the oil price

· Exchange rates can go against you, making trading expensive and reducing profits.

Why foreign firms chose to operate in the UK

· High skilled labour force and higher quality production

· Tariff free access to the European union

· To buy existing UK owned brands

· The English language is the accepted international language of business, science and technology

Problems for the UK economy when MNC’s close a plant
· Jobs are lost from the plant itself

· Jobs are lost from other UK companies who supply the plant.

Globalisation
Benefits of globalisation for the UK labour market

· Jobs are created in sectors where the UK does well
· New migrant labour skills lower costs and increase competitiveness

· Opportunities to increase exports to UK markets

Drawbacks of globalisation for the UK labour market
· Low skill jobs are lost, particularly affecting manufacturing regions of the UK
· Increase in immigrant labour depresses wages
· Relocating production overseas can cause unemployment
Migration 
Immigration effects the UK labour market positively by

· bringing new knowledge and skills
· reducing wage inflation and increasing competitiveness
· providing more workers to support the UK’s ageing population
· increasing the numbers of consumers as well as producers
But increases in immigrant labour

· depressing wages and replacing low skilled UK workers
· increases strain on social services, schools and hospitals

Emigration can affect the UK labour market by

· losing valuable skills/human capital
· reducing unemployment in recessions

Some barriers remain to working abroad

· language and cultural barriers
· visas, work permits and so on are needed outside of the EU
· Restrictions on foreign governments.
Government action to regulation labour migration

· A points system:  potential immigrants score points according to how well their skills match those needed in the UK
· The SAWS (seasonal agricultural workers scheme): This allows farmers to bring foreign persons to the UK to do agricultural and seasonal work.
Managing the Economy
Economic growth: the percentage change in national income measured over time. Governments want economic growth to be high because a high growth adds to national income, which leads to higher incomes and a better standard of living for the UK population. However problems occur when the economic growth is too high, which may lead to problems in other economic objectives. Because high growth could mean high consumer spending; this means higher prices and conflicts in achieving stable prices.
Balance of payments: financial transactions between the UK and all other foreign countries over a period of time. The government would prefer to see the balance of payments at a level where the value of exports is equal to imports. Because if imports are higher than the exports – more money if flowing out of the country than in.

The Welfare State – financial or practical help for those who need the most support.

Economy at Work

Free market economies: a system where all economic decisions are taken by private individuals and businesses

Mixed economy: a system that is party a free market economy but also has government involvement in economic decisions. If these services were left to the free market, people may not be able to afford them.

Market failure: occurs when markets fail to allocate resources efficiently. This means that the prices of goods and the quantities produced are not at the level which ensures economic welfare is kept as high as possible. E.g. if a market fails some goods may be under produced or not produced at all.
Externalities: exist when the cost of producing goods, and the benefits gained from consuming goods don’t match the true costs and benefits to society. E.g. a business that pollutes the environment will only pay the cost of production and not directly for the cost of pollution it creates. – This costs the rest of society in terms of dirty air and polluted rivers.
Economic cycle 
· Boom

· Recession

· Slump

· Recovery

Boom:  Economic growth will be above average. Consumer spending will be high. Unemployment will be falling or low. 
Recession: economic growth will start to fall below the average growth rate although the rate of economic growth will still be positive, consumer spending will slow down
Slump: growth will be lower negative. Consumer spending will be slow and could actually be falling where consumer spending is lower than in earlier time periods. This is likely to b because consumers feel pessimistic and insecure about their jobs and the chances of keeping their jobs in the future
Recovery: economic growth will start to rise towards the average level again. If economic growth has been negative it will start to reach positive rates again. Confidence will return to customers and businesses. Consumer spending will start to rise again and unemployment is likely to stop rising.
Fiscal policy: refers to the choices and decisions made for the government spending and the taxation that will go towards financing the expenditure, changes in the level of government expenditure will effect each of the government’s economic objectives. Done by:
Inflation – increases in governments spending can lead to inflation. If spending in the economy is already low the government spending will not lead to a higher inflation.

Economic growth – as the government contributes to a major contribution of overall spending, any changes in the level of spending will lead to changes in the economic growth. Higher government spending should encourage faster economic growth. Which is a strategy used by many governments when in a recession or slump. Cuts in taxation may also lead to a faster economic growth

Unemployment – higher government spending is likely to reduce unemployment as higher spending creates more demand for output, so more workers are required. 

Balance of payments – higher government spending and lower taxation both lead to a faster economic growth through higher overall spending. This is likely to conflict with the government’s objective of achieving a balance on the current account. Higher growth means that more people are willing to spend, meaning a ride in imports. However there will be no effect on exports because they are affected by economic growth in different countries.

Monetary policy: policy to control the cost and supply of money, this is done by:

Controlling inflation – one major cause of inflation is from spending in the economy rising too quickly. Interest rate rises can help inflation caused by excessive spending.
This can be helped by rising the interest rates on mortgages, cars bought on credit, and higher interest rates on savings accounts’ 

Controlling growth – interest rate reductions should lead to higher spending and faster economic growth. The bank of England will reduce interest rates if it feels that inflation is unlikely to rise, but economic growth could be faster. Higher spending and higher growth in the economy are likely to lead to reductions in unemployment as spending means more output is needed for services.
Supply side policy: government policies to encourage the economy to increase its potential growth rate. E.g. encouraging education and training through EMA and NVQ’S (national vocational qualifications) also encouraging competition between businesses to lead to higher output levels and lower prices because of pressure between businesses to retain customers.
Competition –encouraging competition between businesses should lead to higher output levels and lower prices because of the pressure between businesses to retain customers. Aid for small businesses will help them survive and compete with larger businesses. 
Labour market policies – decreasing direct taxes provides workers with the will to rejoin workforces and for firms to recruit more workers.
European Union

Benefits of EU membership 

· Greater choice for consumers
· Larger marker for business
· Higher incomes –countries can specialise in the production of goods they are more skilled at producing
· Political influence – joining the EU means that a country is granted various powers to influence policy. Remaining outside the EU means that the country would not have power in guiding any future policy decisions of the EU.
Drawbacks of EU membership

· Competition for UK firms
· Lacks of freedom on product standards – UK businesses have to ensure that products conform to EU health and safety standards. This may cost both money and time.
· Common agricultural policy – the UK contributes money for the EU’s common agricultural policy (CAP). This is a system whereby agricultural prices are guaranteed and this means that farmers can expect a guaranteed income for their output. This benefits countries who’s agricultural industry is insufficient, however in countries like the UK farmers lose out. UK farmers are more efficient than other EYU members but cannot offer their products for a lower price because of the CAP.
Reasons for joining

· Reduced transaction costs – no costs of converting currencies.
· Uncompetitive exports 
· Ease of price comparisons – consumers will find it easier to compare prices of foods sold by different countries. Businesses will not be able to charge different prices in different countries as easily as when separate currencies existed.
· Greater economies of scale – greater trade with other euro zone countries = firms being able to expand.
Reasons against joining

· Costs of preparation – joining costs a lot of money in order to switch from the old currency. Money needs to be spent on printing and training staff about the switchover. The whole population needs to know how it will work.
· Loss of control over interest rates – the interest rate for the euro is set by the European central bank (ECB). This means that any one country can no longer set its own interest rate at the level it would like for its own economy. Therefore joining the euro would mean giving the right of the monetary policy to the ECB.

